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.
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Pdn Cap IN, 20,000 10,000

ghternal ago ooo

I
Dd ;%

@
@
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⇐

80-
1000



Case 2 PART occupie
d

;
:

= PART Spare

Milk A
Curd

Dir Dir

- -

.

Products
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.
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=
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is ther
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=
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.
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optimised Ltd . Pdt A Pdt B
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=
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.
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: ④
hours

d
d

8%0 50g 300W

=



a) 62004

y
b)

38005

c) 56004



Solution :

=
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l

demand
I
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x
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=
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=

=
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I
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r
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8
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y
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n
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g

b
e

as :

follows

Hour
s
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d

b
y
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 soon xx )
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-
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0
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=
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o
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e

cost of unit

to be tfd (308×2
4)

: 7200
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TotalIv
o

unit
:

300 u

o
f

-



Min TP
=

=R

s.

441
-



Max
7 P

=

MP
:

46

•

as

I

.

sufficient
:

÷
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=
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=
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÷
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d
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n
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30
0 Y )

=
-

Div Uef

Case③④:):took
BIsSubstitute@



ID 5900W B. 410
1-



i) Hours Required fo
r

External

Deman
d

X
i

800
:

3400

Y
:

500

UX
4

:

2000

2
: 300 u   x 3

:

900

-
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o
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.
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=
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⇒
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)
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A
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e
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h
-
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.
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=
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u
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-
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.
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n
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E E E I
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0
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-Fpu-2800asit
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e
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=

A
:

x Boo
.

B
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a
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W
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=
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I
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⇐
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212,50
0

Hd ( $
:

asooux :

④ contributio
n

los
t

: 83,350

of Pd
t

CAang -

295,85
0

÷ 2500 u

Rs



Steps to be followe
d

in

Qns of Lof .

+ Top

D Hours Required to satisfy

External Deman
d

2) Pdn capacit
y

it

1-

Externa
l

spare

dd '

capacity=

=

g Statement of hour
s

utilisation

based on Rankings .

D unit t
o

b
e

tfd and

Unit
s

to be SACRIFICED



§ Calculate CONTRIBUTION LOST fo
r

Sacrifice
d

Units .



A
C units )

Case Full
y

spare

=

Min

:÷

*

Max

so n

:

Compeau



Sub St .

Value

my
⑦ teeth cost

-

xx
x

✓

CLONED



Cased"
Part occupied a   Part

Spy
Min Mae

A

1- Mp
-

Vsc

Spare Occupied or

= I

04c
L

(Tvc -     

VSD

Cmp . use ) ro
t

-1

-

Af carfare

✓

Snbst
.

Value

⑦ Acth Cost
-

xxx



CLOWER)



Cases

 filly
ied

Mind Maxi

.

CMP  

- VSD
@P 

-

vsc 
)



011



Q5
:

Lt
d

).

CAB
AB Atd .

substitut
e

IT Rs  210

f
-

1-

Diva d
Capacity : )

-

SP : 1500 '

:

v
e

too -

FC 20
C excl  .

C)
qq.ge/,.. .cq.qaeiy,.zgogooo

solution
(200×10,000)

19000%- -

Totality Rs Comp Komp
400,00g

40,0001120

,g⇒p:zo¥)Fc:200

✓
:

Rs
-

3010001
RaftH@;¥e④



¥ §
re

9W Rs 1500,000



D Diva Rents out t

Dir B bugs camp fro
m

off

Di
v

.

A Div
.

unit 
)

SP
-

1500

Rental Rs
: 300,000 ① VC

:

( 700 ).

Incens
e

①
 comp Cpo

)

BCIRsfromI210
Total xD

profit
:

2100,000
-

Cent h : 380

( 300,000
+

fwN£
of

1809000
)

:

10,00
0

U

Total Rs 3800,000

Cout
h

:



⑦ FC
:

Rs
( 200,000

)

Np Rs Hoo,
ooo

i

(B)



④ Diva sells 0/5 @ r

Di
v

B
Pur 

220from

of @ 210

Di
r

-

A Di
v

B

--

sp 220 profit
same as

:

① past e : )

VC
:

190 Rs
=

1800,00
4

.

- -

Couth 30 =

:

x 20,000 Com
p

- Div ⇐   Rs 20,0900
0

Toth : Rs . 600,000 CATB)
=

,

-0
:

Rs . ( 40 
,

ooo )
- (20,000-
1



Fogg 180,000)
-

NP Rs . 200,00
0

.

.

AD
=



iii) Div
.

A increase the Capacity

④ Di
v

B from Div A @ 210

par
Div A

-11
1-

External Stand
-

-

SP
-

220 210

① Vc

:

( 190 
)

C 190)

Garth
: 30 20

pm 20,000

×chNn9¥
f

20,000
: -

-

600,000 f
-

409000

Total
=

Rs . 1,009000

cents Rs . ooo Cult ID
① FC

= soo
,

① Artes
t

a

¥1154127 )



NPCA)
Rs . 320,000 B. 21,29000

⑦ NPCB t Bilfogoo
o

=



Recomm
it

on

:

choose option 3 asIt result
s

into Maximu
m profi

t
fo
r

the
.

company



QI Solution

3 Division
s

?

=

181 - 2nd →

3rd 
Div

-0
a) MP Mp

b) shared Couth relative to

Variable Cost .



Edible Oil fu
Particulars

Or;in
marketing

Quantity
200012,1000kg

qq.gs

→ VC p.ve Rot to 3.75

10,000 1875
Total VC 5,000 (500×375

)
(2000×2.5) (1000×10

)
⇒ Fcpa 5 7.5 8.75

Tota
l

Fc 10,000 750 4375



( 2000   XD
6000×7.55 GOOX8.A

T
MP laosfl

g

62.511g 150/1
7

←



:÷⑧Qr*zE÷attractsadp

aean}



 fDJ



i) To calculat
e

Overall

company profitabilit
y

In such situations ; we will

calculate the Tota
l

Sales of

the Div 's that sells externally
and Take G④ of

all the

Divisions
.

intocompany



g. Overal
l

Company Profit  .

Salesgir
l

EI
: cmktg .,

( 500C @ Rs
1501am

)
⑤ Variable cost

:

16,875"

6700¥0
4
=

Contributio
n

:
58125

175,0000
① fixe

d
cos
t

:

(2/875)

(19000-



1700+43×2
=

Ne
t

-

Profi
t

: Rs.         36,250

C of
=

compan

y
,



Share
d

contribution relativ
e

to metho
d

a)
S .    P 100

① V .

C Coo)
-

=i
m

-40T
=

A
✓ c Go

t
cent 's +40

-
=

SP To
=

=

Sp
=

VC t
Cont 's

fo stand ⑥dept.

is called TD



r

(
 TP

=

Vc t couth



Share fourth
= =

Rs. 58,125
=

I

3. Divi

TT ¥gfde
on the basis of

I one I

58125×500
0

58125×10,000 5815×187
5

Foor * ⇒
⇐

17,2220 34,944
0

64580



a-
Conti shar

e
of respective Div 'm



Tpcalculation
si
) Harvestin

g
TP

=

Vc t cont 's

↳
=

5000 t 17,222

.

, -

r

(Sale pric
e

to

gnternal Doin

)

aol.moi-D.vn



T
p

=

Vc
t  cent 's t I

Cvc )
.Tp%a==to,ooo-134,444-122,222

aIs.66,66=61f-

T



ii b) C
Harvesting

)

y p
 @

MP
=

Rs .          25,0001 -

ga .   
4kg

X 2908

Marke)t

FOil-Mill EE
=

Tp @ MP
⇐

fs .

62,504
-

( 62.51g
x lao

Kgs)



.

lid a) Shared  Couth irt Variable
coat

µ

Profitabili
ty

Statement

H OM M

Sales 22,222 66,666 75,000

C
from  pti'D

②  Variable

①ftp.tast 22,222766,66
6

59%19000

①  FC Liar7500
4375

10,000
MET -          
profit

7222 26,944 2084

it



iiib) Market

Profitability
A

H OM M

fp 25000 62500 75000

-0 NC

-

25000 62500

TPC 500494,187T
FC 10,000 7500 437T

Nf 10,000 2900 6250

or it



-



¥1 Method
s

H : MP

On : SC  irt   VC
M :Mp



:

Gott  Module Qn )

0¥ Sahih
Cornflakes Tf③I

A
oomf Production Pakaging

mfs ( ) Divis
Div  .

Mp  .

:* .

-astoffgro⇐#fE±

189€00

findpdt

:::÷:÷sov

:8Q8000'300,00-5000:

qi
Coset 7,5000

>
Sooo      120,000I8000

?i
8000



-
Shared cont 's Shared Profit
relative to relative to

V. cost cost

* ④

overa
ll

company "

Ca⑦ ÷
÷

of
Variable

TC④cost



✓

TP =sp=  Vct couth sp = Cost -1
:TP

⇐

Unfi
t



SP Cout
h

=vctFCtN①

I
SP =

Vc +

sp
=

Tct NP

I I

SP =too sp - -
vote

-

NP

sp -          Tct
VC

= o .

'

:.
i

①  FC
-10

=

GOT@



¥0



i) statement of Profitabilit
y

particular
s

5000 8000

= =

Sales 200,000 300,000

-
0

Paging

:B
.

① Production 120,000 180,000

Div . cost
Net

-

Profit 5000 40,000

800000
= =

ID Dish of Profit relativ
e

to cos
t



5o00Um 80002
mi

NP
:

Rs . 5,00
0

NP
:

Rs. 40,000

A

I T1-

Pdn Pt
g

Pdf
Pkg

-

-

40,000k40,000×80,0002
5000×1201 oo]

19500
0

195000 260,0004902
%

Rs 192
3

=  Rs. 3077 =Rs 12,307 : Rs  27693

=

?

×7= 5=0015000-

)i
calculation of TP . by Packaging

Dir
=

TP =

To Cost + NP
=

75000-11923



=

76,923 for 5000

units )(



For 8000 unit
=

TP
=

To + M

I

80,000T 12307

=

Rs 92,307

I

-
CTP)

500
0

U 8000k

-

-

Overal
l

76923 92307

Tp.    .

=

B. Koss Rs 11.54

? = =



ID TP   as per Marke
t

pric
e

method
A

For 500¥:

M
p of 

Transferor

C pkg  .         Dept)
is Is

770001800 .Rs

¥-

it  is 9500g



Profitability of
Both Divis

under
"

Shared profit set to  Cost "

Particulars Pkg Pdn Total

5000-
4
Sale
s

200,000 276,923

-0 cost )

① Top
o

Cost ( )
6923 )

Nop
.

5000

8000g 670074%9,0%94950
00
¥923077

300,000
Sales   1923092307.77.

① Cost C 80,00
0

) 480,000)



OTP  Cost €Ct-3
Nop .

1230
7

2769
3

40,000



Profitability 
@

MP method

go.co

Pad'g
Pdn Total

q
5000W

20,000
①  cost

① TPC
-

NP 2000 3000 5000

80002
T@q77O00

it n
:¥:÷÷gt

4500
⑦  Tpc .n.o
•  fatNpas40,00



. o



II (  shared    Profit
)

.

5000
1

800£

76921

sooo

,  .

:9÷÷2307500

÷÷I
ello8

I41550



> ⑦



pplgift
5001 8000

1

'

t:÷o
⑤

Foo -

Red 
'

cost a

by s A
415
( )

Pdntk
p

' i

Few ÷÷



o
-

24
=

22  of

Reda  in cos
t

by



QI: Tycoon

)

×

htd

IOOOBXIOOMIB
(

i

950,00
0

mtg mtg

A

( 1st

'

)June 20

:÷÷*±i÷÷÷÷÷÷÷÷

5/BrRm!?÷!moo:725/13

YE sfn;spt
:

vcsoe}
ps

bE#
@ TP.



④
FC 10,00ps



Solutio
n

:
@  807.

( Jan '2o )

= =

Textile Dept Process House

Sales 24L (25-
1105)×6

Sales
:

1203754500×82
5 )

443 ) -0
-

② Rm
c

12L ( Cisooxsol
p)

-

ve
:

10
2① VC 408L (42×102) -

-
"

① Tpc TPC Rm92Close-

←

① FC 308,0004012FC:IL

Net  
Profit:

NP : II. A 7,500

Total :
has .SE/-

@
Eog.

Textile Process

Sales : 30L G 1812,500 )

① Rmc

:

15L 1500,0
0

(543)
GqI¥ao

lost D

(5×12
)

A 6

① vc
:

6L 20,00

fzsoox



-0 Tpo
:

-

logout to 
)

Fe
a

① ;5tD4.12
-1250-⇐

4880001 500,50
-



AE a

⑦

Ext  a PI

@ 5.6 @ 6

X  150,000
X 250,000

-

omens

as  :÷÷



\

QI the

E I

Tferor Tfee
.

F-
a

Ix
-

Ip
=

Rs  56250
←

500g I

'

1406,2500-PriceI
DdT

33750 95%00
Tatts

:

④ 5625

@ In Tooo a



i ) A CX)

Profitability
Y% Laff @ go VC of

=

- = -

450,000 562500 (  11250 )

:O :÷
::

E .

5,000
: 1800,00 1575000 225800

20,000
29000 2250,000 191570 3375W

30,000 2700,000 2250,000 45,000
0



1968750 1406250 450,000 112500
2985000 168750 900,00 39750

10,000
PsofitahiliyqDivYlhn.5salesmcfy@8Prop.e

1968750 135,000 393750
3712500

5,000 2280,00
0

180,000 120,0W

4170,00
0

15,000 2531250 2250,000 (28/25
0)20,000 4500,000

25,000 4522500 2812500 270,00 ( 999000
J

3,0000



@ x'

sthghestnft
X : zgooo

Gy 450,000
:30,00

¥49
+

C999oo)@
7 : 10,00 39750
X :

10,000

0397520
-



iii) PofitabihtySt@#qtL
ad

U s me

get Profi
t

sooo 196875
0

1406250 562500 O

to ooo 900,00 3975W

,

37750 1968750 123750 506250

1500
9850016875

0
30,0045250 157500 345am

als
o

ooo
sooo 417000

,

253125
0

191mW 56250

2500 45aoo
28150 2250 ( 54900 

)
,



.

: Div x is not based
an

profi
t

Centre , Top .

will be @ cost to

Div X



G1 : Basics of TP

C units )
02

,

3,4
:

Concep
t

o
f

TP t ff

C
key factor

)

05 :
TP with DM

06,7 8 : Methods of TP

,

°

Shared Cont's won see
n

to NC

C First Cal Overall Profit

of the

conf ay
)

.

Shared NP in

set : to

costs



.

Mp

=



09,   910 :Profitability @

Differen
t

deman
d

level
s

.



9 

mt÷a
@



H
Divya



Solution .  .

.
-

fifers
C 96000

5000kW Di
v

B

- -

hours )Divas
a

± " " ± c

SP 800 160 SP 1450

VC 320 80 Tmf C

60 400

DM 300 Y@%µy
120

Couth 180 20 Cont
130

÷  His

.

4h 1h Foh
.

Pu:÷= ¥Cpg:50,00

pm.:20

aentwhnr⑧eI
or

⑤'s#
progunlimited

squad ,

¥-302



D Div B Imports tht Reg .

as DAPEF
We know that Div A has a

maximum of 96000 hours
.

Accordingl
y,

Rank will be given
as

per cout
h

/ hour and the products

wil
l

be made based on Rankin
g

Statement of Allocatio
n

o
f

hours
.

Hours Available
:

① Used by X
:

.

60,00
0

he

9150006,000kU@Hh)

(
Hours Remaining

:
36,000 he

ths unit of
: 1h



f
Total units of Y

¥

36,00
0

units



Profitabilit
y

St

Particular
s

X Y 2

Sp 800 160 14

-0 Vc

=

DM

vc

spa ④ ⑨ ②

180 I WNDZOCWND 130 C
Conti pie war

d

x
NO . of 15000 36000 5000

chit
s

Sold

Tota
l

2700,00 an ooo 650,00

court 'm ,

↳ 3420,000 650,000



① fixed 390,00 soo

on ,

UM ,
OO t 156,00

E 570,000



ii) Div
.

B will pm from Dir .
A

@ Rs 800 GD
Div : A :

÷
96000h

m

× ± ①

IOut

.d
d

'

3¥
Eat

'

old

Statement of Hours Allocatio
n

Hours Availabl
e

:

96000

① Used by X

(15090+5008)
×4

h/u : 80,000k

thrift

Remaining
: 16000k

÷

this pm wi
t

a

14h



chief of y
- -

1600
0



Profitability St f
Dir AaB

X Y Z

=

Couth
: I so 20 Couth

: 130

pm ②
.

16000W cost
.

Nuoo
f

20,000 of 80:
a Attn

CD

3600,000 ⑦ 320,000
-

Total 3920,000
: 50

= ⇐

Count 
'm

① Fc ( 30,0900
9

XWNO.fi 5000

- -

920,000 T couth
:

-
250,00
0

-
0

Fc
:

50 ooo

,

Overa
-

6790001 -
No

:



ll t
"

←N

o

250,000M =
 -

(9m

g

ooo -

,



in

)

TP by Dir
.

A for X
=

7201-

B

Div A Di
r

B
=

-

I I Tu

Pdt  .A 2

-

Ext gut Et
t

couth
:

130

100 20 Disc
:

go

Cop : 180
.ht? (180--80) -0 Att

n (go):

cost
④

'

1500
0

5000 -

KNOWg 

:

couth
: 130

Cont 's = 2700,000+500,0
00

t 320,000 p.

U

Total × No of
:

5000

3520,000 units
= -

Coutts
650,00=

. .

① :
- 500,00



FC-=-3000,00016000①Fc

Nfc,
a

529000 Nfp 150,000
=

=

NPCATB :52%000 t 150,00
=

B. 670,000
)



Recommendation :

=

we wire Select option ③
as

it results is a
Balanced

profitability
for

bot
h

Div A

& Div B

=



Q Solution:
Maryanne htd .

Div . A
-

Dirty

-

-

qdt targe
t

Profit :

External =

p¢¥g=

250,09000*

:

too Ou ShldheyCapacity
Eat  old

:

5380070,000W
&

sp :

25000VC:1600

Conf
: 900 pin

!
fixed Oh  : 40,0 ooo # 13800,00 ⇐

MapI:

,

t120900,000s@



ht : nosy.
138000



D To  Cal t
o

meet

Target 
Puff

Diva

Pdn capacit
y

IEEE
TT

1-

①

④0 aske
d:

.

÷÷÷÷If't.ragaEdt



-



Reverse
④ Fixed  ohd : 538,0900

0
Cgirm

)

Total 78800,00
0

:

couth

.IS#ategya:RegdM:asgoo.oooCgi
m.3

÷÷÷÷::÷:÷::

earne
d

↳ B¥pg
(To  be recovered

cgim
)

safe fro
m

old:)

1500,09000 88800,000
Intense

÷



(250×6900) 40,0002

XP
:

Ps .

2220

I =



ii) Cal of M
p

=

Dir .A
:

Pdn Capacity

100,00
0

Units

I
'

Extended Spare
70,000 Capacit

y
. -

30,000W

I

9ntYde
pt

40,000 U

I

1-

Spare occupie
d

@ @



VC MP
(20,000×25

0)
(30,000×1600)

⇐ 48900,00--1250,0900-0

Mff ugoo



gig Servia0MIP¥
:

External fees
I consulting gnternal

= Day
At Team Divisions

: q per Gentile
Feese sp : 4500 250

-0 Div )
Profit 150 If

1800%00s

ITDC- Tean⇒

cos
t :. zX C a  Team )

µ

I1-

807. 207.

v f ant T
f

=
← I

1440 360 Vsc :   200

CNot



chargeab

le
)



D TP to Textile
s

Dir .      
;

if
IT Div is fly occupie

d

.

IT Di in fully

occupied
A

If Textile Drivin needs 2

IT Teams the TP will

be @ ME
-

VE

A

450
-

20

Min

-14--4300/0/-1
=

Max qp ✓



ID
I

Team Spare & I  Team

Occupied  .

-

2 Teams

I

1-

IT Spare IT fully
I Occupied

TP .
@Tov.c.

tP@tmp.

①
-Ov.Vscs

c .

-
-

(1440-
200)

(450-20)

=

1240-14300
-

2

min TP
- -

2770/017/-1
=



Mahn  . Gpo 20 ) . 4300194
T

-



iii)

 IT Div . →  External

÷÷⇐÷
÷÷



Calculation of per
fee
s

consulting per team
:

-

Tota
l

fee
s

sai
d

=

1584,000
for

48W 127
÷  No Of ÷ 48W

dayWeeks
-Week

B33000
1

÷ 51
3

660%
-



3300101⑦

200

€

Vsc / DIT

TP
:

/T



Q XY Compan
y

capaY
DivX 20,000C Div Y ✓

-

a -

External y ( 19000ms
2x .by

-

0sp
FG

no-SP350%:300-?
no ve

: sat
:

1350,00
-

APC :
(

cont 's : 143 2ND

-

p
m

FC
:

2962,000 FC :

A

Profit -     



Centric
←



D Calculate
d

a)
X →

Pdn   #city :

35,000C

÷÷÷¥
l5,o00Campo

yn
Deman
d

by

=KY :      20,000C

I
Full Idle



" Capacit
y

←

@

rip¥



b) Ext
'

old :

19,000C
I

'

⇐
" " ° "

-

19000C
External Spare

dot -

MY
16000C

I
Deman

d

b
y

Y

-

20,000C

Par
t

Spare ; Pat Occupie
d

H

Sp # # 'e
d

16000 @ VC dead
4000 @ Mp

@  157 @ 30
0

=

2512000-1120,000 Min
⇐



Rs 18506 yp
=

=



D Eatdd
:

35,000
C

he Pdn Cap
:

35000C

11

1-

'
E

"

Deg÷.

Dd by Y .

.

20,000 C

L

tim
e fly Occupied

=

yp
=

Mp

=3001-

=



Y par
→

External

Supplie
r

*
⇐

Rs. qssf -

each

a) T P
:

15=7 our pm

pric
e

of y

@ 
asf -

As pe
r

abov
e

Y has purchased

so ooo c @ (255-157)
=
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